MAT 201, Quiz #4, Sprin

Instructions: Show all w
credit. Some questions
unless specifically asked
1. Find the limit.
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may contain multiple parts: be sure to answer all of them. Give exact answers
to estimate.
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2. Sketch the vector field

F(x,y) = yi+ (

Plot enough points to see

the general beha
the field.
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3. Use the sketch

curves are perp
which direction
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of the vector field below to sketch at least 5

would a particular starting at the indicated

endicular to the direction of the field). Ifas

ivel curves (recall that the level

urface was defined by this field, in
Dint roll?




